Mistkes, errovs, wmispellines ete, in [Weweti: ee cylindj:icnﬂ

that we hwve Tound uatil now.
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13.453 Mistake! (4) should read as: ((P@q)}yi/\y.:'(; D eee
(otherwises it does not follow from X)), = ~

p.46° Mistakel (ux¥) should read as: y.=y. - Ez(yJ.:zJ. Az =X)
(otilerwise it a~es not follow from 7).,
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P69, Irror! "aAxeT¥ does not follow from the Lypotheses, nauwmely
h(m, )ET is not necessarily true, @h%&gjh, we checked by a

lengtny computation that n’( ’er:)é T does hold for tus

particular dLE€GTCA, we constructed,
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